300%x300

VESAT LG
BAWXH(mm)

BiRAE

AR

STE
WXDXH(mm)

HRES
(kg)

TARATVABHRUER

200x200

800%x400

600x1000

400%x800

222Xx20x221

870%x35X635

678%x34X1104

550%x35%909

4.3

5.8

4.2

EHFRHENRU

M4 (278) x&4. M5 (218) x&4
WFES ())x4
BWANR—Y—(K)x4(])%8

B+FIUTERARIVE

M8 (27E) xF4. M6 (2f8) xEZ4

BFES (FUE8)X4

WAR—Y— 5Zp12. NEP9(1=5) X8

BHFRAEERARIVS

M8 (21&) x&6. M6 (178)X8. M5 (11&) x8. M4 (17&)x8
BFEE (FUR8.4E21)X12,

FREES (FFOTRB. 918 18) X8, FEES: (IFUTRS. 51820) X6,
FREE (FURS. 5112 18)x8

BWFREERERIVS

M8 (218) x&4., M6 (2f8) X4

W ES (FURE8) X4

BAR—Y— HEp12. ARp9(t=5) X8

400x400

600x400

800x400

ABRRE
(0°7°12°159

ABRRE
(0°7°.12°15")

AR
(0°5°10°15")

460x52x438

727X52X438

870x52%x552

3.7

5.6

B+F7UE~RNRL
M8(218)x&Z4 . M6(218)x&Z 4
WFES(FUE8)X4
BWAR—Y—(KINXE4L

B+FRAFEARNRU

MB(2i8)x&4.M6(21&8)x&F4

BT EE(FU8)x4

WAR—Y—HEP12.WEPO(t=10)X4 AX——HZp12. ARPI(t=5)x4

W+FRAERAERIVS
MB(2i@)x&4.M6(21&)x&E4
WARATGNS 2D IEHFFE)
M8(2i@)x&4.M6(21&)x&F4
WTPEE(FURES)X4

BAR—Y— 5Rp12.WEPI(1=5) X8

200x200

200x200

400%x400

400%x400

600x%400

600x400

800x400

120°

180°

120°

180°

120°

180°

120°

—20°

—20°

—20°

—20°

235X58%235

235X70%235

402x53%x423

402x53%x423

601x53%x422

B601x55%x422

824x112%x505

2.7

3.9

4.5

11.8

B+FfdEhal

M4 (2F8)xE4 ME(2FE)xE4 . MB(2FE)XE4
BTEE(I)X4

BAXR—Y—Xx4

|_REFINOLltelV]
M4(218)x&E4.MB(21&)xE4 . M8(218)x&E 4
BEEEX4ZAR—Y—X4

B+FRFER0
MB(31E)x&4.M8(318)x&H4
WFESE()\)X4
WARR—H—(K)X4(1\)X8

B+FRAENRU
MB(2f@)x&4.M8(21&)x&4
WFES()N)X4
WARR—Y—(K)X4(/1\)x8

B+FFENRL
MB(31&)xE4,MB(3E)xE4
BPES(FUREE)X4
BAR—H5—(K)X8(/\)x8

B+FRFENRL
MB(3%&8)x&4 . M8(3fE)xE4
WPES(FUEE)x4
BAR—H—(K)X8(/\)x8

B+FRHGENRU
MB(3fE)x&4.M8(318)x&F4

WY EE(FUERE)X4

BOA S YRMBX4/ AR —H —(K-1\)X&E8

900x600

600x400

400%x400
500x600
(PHyF X MEFE)

600x400

120°

L83/ TER
BESDD

LB/ TER
AESHD

L83/ TER
R/EDD

1041x207%x579

734X115%X495

530x121x627

685x51.5xX541

38.7

14.6

15.5

13.2

B+FRAEANRL
M8X16x4.M8X20x4,M8%x30%x4
B1Z/{—Y)LAR—5—X8

B2 ENNRL

M4X12 X4, M4AX16 X4 .M4AX25 X4 MBX12 X4 .MBX16 X4 MBX25 X4,
MB8X12 X4 ,M8X16 X4.M8X25 X4

W1 )\—Y)VEE X4

W1/ =BV AR—Y— 5Rp25 ARP5~10(t=6) X8

B+FGERNRU

M4X12 X4 MAX16 X4 MAX25 X4 MBX12 X4 MBX16 X4 MBX25 X4,
M8X12 X4 .M8X16 X4.M8X25 X4

BEEE(FU8)X4. AT vh MB8X4

WI1Z)\—Y)VES X4

W1/ AR—— HZEp25 AEP5~10(t=6)x8

B+FRGERNRU

M4X12 X4, M4x16 X4 MAX25 X4 MBX12 x4.MBX16 x4.MBX25 X4,
M8x12 x4.M8X16 x4.M8X25 x4

W1 /\—Y)VEE X4

BI1Z/)\—Y)VAR—Y— HZp25 ARP5~10(t=6) X8

ffit&EINCA—TV T,

439NVH

= =ATUNAMNL

98



